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(2) 5x+2ylcx=3, y=-2%1AT5L, 5x3+2x(-2)=15-4=11

[FIRE] (1 2= T H D)

WOEMNITE 2 K
(1) x=3, y=30L %, 5x+2yDfEizRD K,
(2 x=3, y==20tx, XY OEERD X,
[ 2 A

(1) (2)

[R451(1) 21 (2) —72

[f5o]

(1) 5x+2yicx=3, y=3%fAAT5L, 5x+2y=5x3+2x3=15+6=21
@ 3xy°lox=3, y=-2%fAT5L, 3xy°=3x3x(-2) =-72
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[RIREI(1 1K)
x=-1 y=5mr %, 3(2x-3y)-43x-2y)ORDfE%kD X,

[ 2 4]

[fi7]1

[figwi]

AL L T OEZMRAT 5,

()= 3(2x-3y)-4(3x—2y)=6x-9y —12x+8y = —6x—y

hicx=-1 y=5&ftA¥+%5L, —-6x-y=-6x(-1)-5=6-5=1

[FIEIL D)
X==2, y=30 & &, WOXDEZ KD X,

(1 3(x+y)-2(x—2y) @) 12(x—%}—6(5x—%j

[ A

(1 (2)

[f&1(1) 19 (2) 33

fireaii]

(1) 3(x+y)-2(x-2y)=3x+3y —2x+4y=x+7y
T x=-2, y=3%RAT 5 &,
X+7y=-2+7x3=-2+21=19

2
i)

,_,
mm H%

2) 12(x—%j—6(5x—%j —12x—3y — 30X+ 2y = ~18x— y

ZhiCx=-2, y=3%RAT 5L,
—18x—y=-18x(-2)-3=36-3=33

[FRE] (1 247 )

x:—é, y=dOLx, ROROMEERD L.
(1) (2x+3y)-(5x-2y) (2) 24x%y+(-8x)
[ A

(1 (2)

36



[
[
V)

1) 21 (2) 4
il
(2x+3y)—(5x—2y) = 2x+3y —5x+ 2y = -3x +5y

e x:—%, y=4Z AT S &

—3X+5y:—3x(—%J+5><4:1+20221

2
(2) 24x%y+(-8x) = 24x%y (_ SLX) __2XY oy

e x:—%, =4 Z AT S &

—3xy=—3x(—%jx4=4

[FRE] (1 2~ R)
a=3 b=-20t%, ROAXDHEZKD X,

(1) 18ab +6ab® x (- 2a)’ (2) —3(2a—b)+2(a+2b)
Lisiil]
(1) 2
[fi#41(1) —54 (2) —26
[ ]

2 2
(1) 18ab- 6ab? x (- 2a)’ =18abx—— xda? = 20a0x1x4a” _12a

6ab 6ab b
2

soica=3 b=2&fkATFBL, 2 12X29 _ 54

(2) —3(2a-b)+2(a+2b)=-6a+3b+2a+4b=-4a+7b
a=3 b="2%fKAT5&, —da+Th=—-4x3+7x(-2)=-12-14=-26
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